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(B) (B¥R) (ppm) (ppm) | (BFRED [ (%) | (B | (%) (H) (%) (/) (%) (ppm) (H)
KB AT KEmEARX |EZRKXR #ET 363 8593 0.020 0.091 0 0.0 0 0.0 0 0.0 8 2.2 0.041 ol O
KBrh N T 4 Eib/hER ] 366 8735 0.019 0.083 0 0.0 0 0.0 0 0.0 8 22 0.042 o O
N KrHLEfEX | HIEXR&FR £ 363 8709 0.022 0.089 0 0.0 0 0.0 0 0.0 12 33 0.044 of O
Kirh KIRHAKRIER |FR/INFER x 358 8569 0.019 0.092 0 0.0 0 0.0 0 0.0 13 3.6 0.042 of O
Kirm KR RIIX R x 366 8738 0.019 0.094 0 0.0 0 0.0 0 0.0 9 25 0.041 ol O
N KRmGENR | FFd/hEsg #£T 366 8728 0.016 0.082 0 0.0 0 0.0 0 0.0 4 1.1 0.036 ol O
KB KEHEFX |l * 366 8733 0.017 0.093 0 0.0 0 0.0 0 0.0 5 14 0.037 of O
KBrm KIRHER KE R x 366 8720 0.018 0.083 0 0.0 0 0.0 0 0.0 2 0.5 0.037 ol O
KBrm KEHHER |EB/NER £ 315 7529 0.016 0.069 0 0.0 0 0.0 0 0.0 1 0.3 0.032 of O
Rirm KERHFEZIRX ETINFER 1x 366 8734 0.020 0.080 0 0.0 0 0.0 0 0.0 6 1.6 0.039 0| O
KBrm KEHEHFX |({BERE&R * 301 7441 0.019 0.073 0 0.0 0 0.0 0 0.0 2 0.7 0.033 ol O
KBrm KERHAERR |SERER ] 366 8732 0.020 0.097 0 0.0 0 0.0 0 0.0 8 2.2 0.040 of O
KBrh pN T Tic] B NERINER T 364 8707 0.023 0.097 0 0.0 0 0.0 0 0.0 18 49 0.045 of O
KBrm KEHFEFEZIRXR |BERFRAE #£ET 366 8734 0.024 0.087 0 0.0 0 0.0 0 0.0 30 8.2 0.047 of O
bl RRX DIRF x 366 8688 0.019 0.073 0 0.0 0 0.0 0 0.0 1 0.3 0.036 o O
b ] IRHER EF * 364 8644 0.016 0.078 0 0.0 0 0.0 0 0.0 0 0.0 0.030 ol O
] BRhEx A £ 354 8436 0.018 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.032 ol O
] Wi Ealii Ed 349 8313 0.014 0.065 0 0.0 0 0.0 0 0.0 0 0.0 0.029 of O
R/ BHRX =F £ 365 8661 0.019 0.078 0 0.0 0 0.0 0 0.0 4 1.1 0.038 o| O
il RhEX EER =1 1x 364 8640 0.009 0.045 0 0.0 0 0.0 0 0.0 0 0.0 0.019 ol O
b ) RHER ExR =* 319 7612 0.012 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.024 of O
] B EFH x 365 8672 0.015 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.030 of O
] BmERER e £ 365 8680 0.015 0.067 0 0.0 0 0.0 0 0.0 0 0.0 0.027 of O
KB FF Ef@Ah FEMNRSPRAR % 364 8632 0.012 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.026 ol O
- Asalit] - Asalit] BdmFak £ET 364 8647 0.016 0.081 0 0.0 0 0.0 0 0.0 1 0.3 0.034 o[ O
KB FF AEH MEMIIFEASEE =F 358 8501 0.008 0.061 0 0.0 0 0.0 0 0.0 0 0.0 0.022 of O
wHET™h WwHE™H WHEHEK 4] 357 8526 0.016 0.082 0 0.0 0 0.0 0 0.0 5 14 0.036 o O
WwHEM W HE™ wHETILEEE % 358 8510 0.012 0.054 0 0.0 0 0.0 0 0.0 0 0.0 0.029 ol O
wHET™h WHE™H wHEMIIIE E3 363 8656 0.016 0.077 0 0.0 0 0.0 0 0.0 4 1.1 0.037 of O
PN RAEH RXEN®E #£T 351 8374 0.015 0.070 0 0.0 0 0.0 0 0.0 0 0.0 0.029 0| O
=1h ST =it * 363 8691 0.008 0.046 0 0.0 0 0.0 0 0.0 0 0.0 0.020 ol O
=5 K] =Sh ERT £ 364 8656 0.012 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.029 ol O
KB FF Bixm™ BixmhiEIFE x 364 8627 0.010 0.066 0 0.0 0 0.0 0 0.0 0 0.0 0.023 of O
KB AF AT SFOREERT ] 363 8619 0.016 0.070 0 0.0 0 0.0 0 0.0 2 0.6 0.035 of O
AT SFATH F—HER(EH) = 364 8596 0.017 0.071 0 0.0 0 0.0 0 0.0 2 0.5 0.036 o O
sFOT SFOTH E_AIERCKA) T 361 8514 0.018 0.076 0 0.0 0 0.0 0 0.0 3 0.8 0.038 ol O
AT AT F=RIER (88) T 365 8598 0.018 0.080 0 0.0 0 0.0 0 0.0 4 1.1 0.037 of O
wA™ wA™ WE £ 364 8653 0.014 0.056 0 0.0 0 0.0 0 0.0 1 0.3 0.030 of O
wA™ wA™ WAMIER ] 343 8236 0.014 0.059 0 0.0 0 0.0 0 0.0 1 0.3 0.030 ol O
il 5 9alit] E /NS x 363 8654 0.012 0.056 0 0.0 0 0.0 0 0.0 0 0.0 0.027 ol O
KB AT ZARH RAMHIZFT ] 364 8629 0.015 0.060 0 0.0 0 0.0 0 0.0 1 0.3 0.033 ol O
XA xR ER/NER £ 366 8670 0.010 0.054 0 0.0 0 0.0 0 0.0 0 0.0 0.023 of O
J\ETH JNETH I\E &R ] 363 8576 0.016 0.061 0 0.0 0 0.0 0 0.0 1 0.3 0.034 of O
JNET JNETh kit th 364 8624 0.010 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.025 of O
| KB i RIEEFH {EEF PR F 364 8621 0.012 0.060 0 0.0 0 0.0 0 0.0 0 0.0 0.026 0] O
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(B) (B¥R) (ppm) (ppm) | (BERD) | (%) [ (BFRED) | (%) (H) (%) (/) (%) (ppm) (H)
KB AT EHMT EBEMTHRAT 4] 351 8317 0.009 0.048 0 0.0 0 0.0 0 0.0 0 0.0 0.018 ol O
KR AT ER)IH ER)ITH&RT (5] 362 8563 0.015 0.070 0 0.0 0 0.0 0 0.0 1 0.3 0.031 ol O
BERIW |BE)Ih R H = 364 8658 0.012 0.062 0 0.0 0 0.0 0 0.0 1 0.3 0.030 of O
KB FF AAREH =—BHmAEREE F 267 6403 0.006 0.039 0 0.0 0 0.0 0 0.0 0 0.0 0.013 of O
WIEH WIET REZEER x 362 8644 0.018 0.082 0 0.0 0 0.0 0 0.0 1 0.3 0.035 ol O
KR AT KE™ RET&A e 365 8650 0.013 0.062 0 0.0 0 0.0 0 0.0 1 0.3 0.030 of O
KB FF fMR™ #r BN £ 364 8657 0.008 0.047 0 0.0 0 0.0 0 0.0 0 0.0 0.017 of O
N HmIET FF I IE SRR PS 364 8615 0.008 0.046 0 0.0 0 0.0 0 0.0 0 0.0 0.017 o| O
talE™ taE™ HmEH&R ] 363 8692 0.011 0.059 0 0.0 0 0.0 0 0.0 0 0.0 0.023 of O
FEM FEM FAEm&A £ 363 8612 0.016 0.098 0 0.0 0 0.0 0 0.0 3 0.8 0.036 0| O
FAE™ FEM WEYTH] e 366 8683 0.016 0.075 0 0.0 0 0.0 0 0.0 1 0.3 0.037 of O
KB AF =A™ SA PR (£ 364 8626 0.014 0.073 0 0.0 0 0.0 0 0.0 0 0.0 0.028 of O
=ATH =Y N SRHEBE SR EL SRR * 365 8672 0.020 0.084 0 0.0 0 0.0 0 0.0 4 1.1 0.036 ol O
KB AF BEHFH BEAFFHER * 362 8564 0.014 0.067 0 0.0 0 0.0 0 0.0 0 0.0 0.028 of O
E PN PN BEABERTAREE2— i 365 8648 0.016 0.084 0 0.0 0 0.0 0 0.0 3 0.8 0.035 o O
N T PN RARTEEITE 4] 362 8589 0.012 0.056 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
KBRAF SRE R % 345 8189 0.010 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.021 ol O
XEH RE™H REFH&EAET £ 362 8646 0.012 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.027 of O
N W [ i £ 321 7762 0.007 0.045 0 0.0 0 0.0 0 0.0 0 0.0 0.016 o O
NG EARHET EARE&I5 F 361 8550 0.016 0.066 0 0.0 0 0.0 0 0.0 0 0.0 0.030 ol O
KB AT - BHEETIR IS * 363 8617 0.004 0.029 0 0.0 0 0.0 0 0.0 0 0.0 0.011 ol O




